Roll No.

Paper Code YR 1D

Question Booklet No.

""""""""""" 5169
(To be filled in the
OMR Sheet)
O.M.R. Serial No. FRAGRAPT I
Question Booklet Series
D
B.Sc. (First Semester) Examination, February/March-2022
B100101T
Biotechnology

Cell Biology and Gentics

Time : 1:30 Hours Maximum Marks-100

e : -

569

I.

O 0% 8l 1 99, §9 TEYRAST I 7 el

qemell o SIS, vy U FeAgRAdT B ARG B [GR0 AR WE— Fal WY,
I AT # forell ot g @ fawfer a1 < o Iwa! Rrer) W wemedt a1 2l
39 WegRT@ ¥ 100 U £ R @ dad 75 o & Sar wWenial grr A I 2}
TS T & IR 35fedd IR W @ A i T §| 37 9N A 9 $ad P & SR
e 2| 9 SR @ I T T 999 Sfd W € 9 SaR e (O.MLR.
ANSWER SHEET)# T6& 3eR dlol 3 Pl &Tal a1 Al 91 @ige 09 ¥ I3 R <
I el wemli g1 fEiRa v @ e oAl & SR R 9 € A S99 §NT &
fol T3 wera: e fAfde Tl @1 & e fbaT SR |

TAE W T 3F WM ©| MU & R IaRk FEl 8, Il B AR b FI o
SR |

T IR DA MoTHNRo ok T56 (O.M.R. ANSWER SHEET) ® & 33 oH
2| IR Fd # MufRa I & srear s wEl WA T IR A e e
HoTHo3Ro IR U5d (O.M.R. ANSWER SHEET) W 65 I foraw 9 4d S9¥
T G e B FHTIYES Ug fordl oI |

gl Tl & IR Werrell b Riee BI 37U JTTYRAHT heic Ud 3MloTHodRo die
Q-G SUTE PR G a1e 8 TN Del I IR B |

fritfea mfem 781 2

FRAYRAP Qe TR FFG: Sid aR <F o [ JeAgRaeT & Wi U9 Weirifo BY g1 8| AR
TEYRAT # DI F B, O P e BT e SHl ARG G SRAgRAeT I 3R o |




Rough Work /% Cap|

Series-D B.Sc. - B100101T/ 569 Page - 2



1. An abnormal human male 1. Udh A A Joy B clgy o

phenotype involving an extra X- e faa X (XXY) A B,
h XXY) i f:-
chromosome ( ) is a care o W W
(A) Edward’s syndrome _
(A) TeIe RigH
(B) Klinefelter’s syndrome _
(B) degThocy Righ
(C) Intersex
(C) e
(D) Down’s syndrome
(D) e g
2. Which of the following disorder is 2. f = § 9w fdeR ﬁ'g SARAH
an example of- B IR o—
(A) Sickle cell anaemia A) Rioa I whfr
(B) Down’s syndrome _
(B) < Righ
(C) Night blindness
(C) Xafen
(D) Thalassemia
(D) Zeriifi
3. The nucleus contains- 3. TS I B
(A) Mitochondria (A) mﬁﬁ'&[
(B) Golgi apparatus (B) T IuGR
(C) Chromosomes
(©) TREA
(D) Lysosomes
(D) TEE
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The rough ER is specially well
developed in cells actively
engaged in-

(A) Protein synthesis

(B) Nucleotide synthesis

(C) Lipid synthesis

(D) Secretory functions

In 70 ‘S’ ribosome ‘S’ stands for-
(A) S.L unit

(B) Solubility factor

(C) Svedberg unit

(D) None of these

The term Golgi apparatus was
coined by-

(A) Camillo Golgi

(B) Robert Brown

(C) Robert Hook

(D) Benda

Chromosomal  basis of sex
determination was discovered in-
(A) Melandrium

(B) Rumex

(C) Sphaerocarpus

(D) Coccinea

4.

W S0 3Ro fdUY WY H oWl BRI
Y o/dl e 9 e BT o

(A) TN HTeryoT

(B) fTIICTES HroT

(C) forftie wzeryor

(D) Edl

70 S* H JIgANAM ©S* T 3 g
(A) TWHo 3o P

(B) goTeield HRb

(C) e gfre

(D) ¥ 35 T

Tl IUGRYT Weq febdes §RT TTQl 1T

o
(A) D T

(B) M€ 9=

(©) ¥ gD

(D) d<r

foT IR &7 R SR el 137
o

(A) Hefifgad

(B) WHT

(C) RGN

(D) dIfdAa
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8. Women rarely experienced sex- 8. Afeeel @1 TS & B A | \_{ﬁ
linked defects because they must TS BT CRAE] 2l & Fife I B
be- AR
(A) Homozygous

(A) HHg™HD
(B) Carrier
(B) drgd
(C) Heterozygous
(D) Develop immunity © 3
(D) gfcRer faeRid et

0. In which typical stage Lampbrush 9. AT TURTA fer faRre orawern # <@
chromosomes observed? ST 27
(A) Meiotic prophage (A) \%ﬁ?ﬁ RTo
(B) Mitotic metaphage (B) A N
(C) Mitotic prophage

L (C) wECIfed b
(D) Mitotic anaphage
(D) #ECHed T
10.  Euchromatin is- 10.  Ferfea-
(A) Lightly stain (A) o T
(B) Partially condensed (B) 1 Y ¥ dufa 2
(C) Genetically active chromatin ©) &N 3 oy BE w7
with genes
fsha
(D) All of above
(D) IWiad G4l

11. The diagramatic representation of  11. f&ll Ui & DAY & IRQT P
karyotype of a species is known Pl ST 2°
as- (A) FeiSHIT™
(A) Cladogram (B) \

(B) Ecogram
(C) M
(C) Chromogram
(D) Idiogram (D)
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12. A chromosome with a very short ~ 12. gd BICI 4ol 3R 98 @dl 4ol drel
arm and a very long arm is TR B e T o—
referred to as- (A) TR
(A) Metacentric
(B) T
(B) Telocentric _
: (C) TPRifED
(C) Acrocentric
D) Iu-HcRifgH
(D) Sub-metacentric ®)
13.  Sickel cell anemia is an example 13. qhel Ael THTHAT BT Th IGIEXT g—
of- (A) i
(A) Epistasis (B) Sl
(B) Co-dominance o
(C) frergrd
(C) Pleiotropy
. (D)  SFERT T
(D) Incomplete dominance
14.  The blue green algae and bacteria 14, i & Y4t &R dfeRar 7 g -
contain- (A) Th \—{l(c;]-cﬁ T
(A) One linkage group (B) a7 oo T8
(B) Two linkage group ©) B A
(C) Three linkage group _ _
D) T ®lg el
(D) None of the above ®)
15.  Mendelian recombination’s are  15. HsfeRM JTHINGH [G8d HRU B &—
due to- (A) SARIH
(A) Mutation (B) @S
(B) Linkage ©) ; =
(C) Crossing over _
(D) U @I &3 TG0
(D) Independent assortment of
characters
Series-D B.Sc. - B100101T/ 569 Page - 6



16.  Crossing over occurs between- 16. IR 3R & 19 BT 2
(A) Two non-sister chromatids of (A) W D Th FEolld g D T
homologous pair of R 95T Eﬁﬁﬁ@ﬂ
N ;hromosl(l)me y f (B) el @ ToRE & @ mife
wo chromatids of an
chromosome ' (© T d e @ Al e
(C) Two chromatids of same (D) q\zﬁﬁ
chromosome
(D) All of these
17.  The genes of different traits 17. T & TR W fafT e W Rerd
located on different loci on the faft=~ Tgo & N9 &—
same chromosome are- (A) RS T
(A) Alleles
(B) Linked ® \_{ﬁ gig
(C) Pleiomorphic (©)
(D) Mutated (D)
18.  Complete linkage is found is- 18. Tﬁ NSIERCIRIRSIG] g
(A) Birds (A) uferat
(B) Snakes (B) Hfd
(C) Female drosophila ©) #Ra ST
(D) Male drosophila
(D) R gt
19. Giant chromosome with a number 19. Eb_ﬁ HHEFHST & 91 fJuTcTer TORTA
of chromonemeta is- a—
(A) Lampbrush chromosome (A) g TORE
(B) Hetrochromosome (B) SR
(C) Supernumerary chromosome
(D) Polytene chromosome (©) ) AR
(D) Hielic ToREA
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20. Chromosomal constitution in  20. HMJ HET H HENH AU DI Ja
human female can be best written ST foraT S gl 2—
as- (A) 46
(A) 46 (B) 44+2
(B) 44+2 (C) 44A+XX
(©) 44A+XX (D) 44A+XY
(D) 44A+XY
21. A somatic cell in human male 21. HFNd R H Up <2 DILGH § Bl o—
contains- (A) fofT TR W FIEES GG
(A) No gene on sex chromosome (B) TG T B U dad T T
(B) Only one —sex-linked gene Rige o
for each character :
(C) Two genes for every sex (©) = fom o \_ﬁ W @ e
linked character ol
(D) Genes on  only sex (D) bt fef W W S
chromosome
22.  Gene of colour blindness in man 1s 22, "™ ¥ guir & o ofiF Rerd &—
located on- (A) DI X -1
(A) X-chromosome only (B) Sl Y -TORE
(B) Y-chromosome only ©) a X-TURGE A YT
(C) Either X-chromosome or Y- D) X B TR
chromosome
(D) Both X and Y chromosome
23.  Name the mapping technique used  23. U® STV 3] ¥ yfoder el @ Refa
to determine the position of RaiRad o1 @ fou ST & oW
restriction sites in  a DNA qrell R qee BT A ga?
molecule- ﬂ‘j‘c!f?l‘cﬁ
(A) Genetic map * : -
(B) Wideer AT
(B) Restriction mapping
(C) Biochemical markers © W R
(D) DNA markers (D) ST A
Series-D B.Sc. - B100101T/ 569 Page - 8



24.  Puffs or Bibliyanirings in salivary 24, AR IR TR ¥ U AT SRIERIE

gland chromosome are site of . qog fodar wore 27

(A) DNA replication (A) TN qﬁ@%

(B) DNA duplication B) T o —

C) RNA synthesis _

ED; Proteinysynthesis (©) SRET i
(D) WM |eryor

25. Centromere is that part of 25. QIR TURIA &l dg HIT g Wel-

chromosome where- (A) TfH® I &

(A) Nucleoli are formed (B) HIRfT e B 3

B) Crossin r takes place -

EC; Eh(:);jiZ:Zr;aattacll)led © s \_{ﬁ & ¢
(D) 3T 2 ©

(D) Nicking occurs
26. Chromosomes found in the 26. SiAfhel & R FfT § 90 I drdd

salivary gland of Drosophila is- TR &
(A) Lampbrush (A) ST
(B) Polytene v
(C) Supernumerary ®) e
(D) B-chromosomes (©) Preg
(D) -TREA
27.  What is the full form of RFLP? 27.  JRUGY H gl w9 o1 87
(A) Restriction fragment length (A) T THel SEIF EHYl
polymorphism (B) IGI6® THSI widlg qgaud]
(B) Random fragment length (©) ST FRAR B ERT .

polymorphism _ _ .
. (D) e GHsT wfar drefl
(C) Restriction find in length of
DNA polymer
(D) Restriction fragment length

polymers
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28.  What is the unit of a genetic map? 28.  3IARIG HHA B SHE AT 87
(A) Centimeter (A) WEHIeR
(B) Nanometer (B) ECIT et
(C) Angstrom ©) T
(D) Centimorgan N
(D) HEHMT
29.  What is chromosome walking? 29.  TURIA Tl 91 &?
(A) Hybridization technique (A) HPR THAID
(B) Sequencing technique (B) S T i
C) Genetic marker
© (C) “Hfed Wax
(D) Chemical degradation
(D) D &R0
technique
30. Which model organism was used  30. 3 RER C2 TURTA IgId B I
to verify the chromosomal theory A b oI fg W9 &1 ST foar
of inheritance? T 7P
(A) Felis domestica A) S SRR
(B) Drosophila melanogaster .
B) ¢ el Hel TR
(C) Homo sapiens ®) NN _
(D) Rattus rattus ©
(D) cd Xeu
31. Who was responsible for the 31, NS G, RER 7 Igid 67 foru D
theory of chromosomal TN or ?
inheritance? (A) fe 3N dfed
(A) Crick and Watson B) AR )
(B) Newton and Einstein
. (C) ¥cd 3R da9
(C) Sutton and Boveri _ . _
(D) Franklin and Wilkins (D)
Series-D B.Sc. - B100101T/ 569 Page - 10



32.  Hardy-Weinberg equilibrium 32, gE—dE Hged @ FuRefd H
operates in the absence of - Farerd gldr a—
(A) Gene flow (A) T a1
?2; Ilzl/[;tati(l)zelection ®)
ura
(D) All of these © W e
(D) T Wi
33. A cross involving variation in two 33. T AN el H f=ar a1l g
different traits is called c $el SaT 2|
(A) Monohybrid cross (A) AMEERS B
(]2) Eiiyl_’;id cross (B) SEEERS B
rid cr v
ED; P(?lyhybcri(c)lszross (C) TS A1
(D) UTelTETsie P
34.  In order to study the inheritance of ~ 34. T WM @ RN &1 JTIT A &
two genes, the parents should be fou  wrar-foar & fou 9@
true-breeding for TS BT AR |
(A) Ah ts1ngle contrasting A) T & Al ot
characters.
(B) A pair of contrasting (B) Tt o @
characters © W @1 1 il
(C) A pair of chromosomes (D) TP Thef ToREA
(D) A single chromosome
35.  What technique in plant Biology  35. UGY Wiig i # IR #edl 1 qAHA
was used by Gregar Mendel to ¥ Ued & U dNd @ forv fig
derive the pattern of Inheritance- THNE BT ST BT o
Eg; f/[ybridizati.on (A) BT
utagenesis :
(C) Exportation ®)
(D) Importation © fe
(D) St
Series-D B.Sc. - B100101T/ 569 Page - 11



36. What does p?in below mentioned 36. M fau U gTel—aat UG
Hardy-Weinberg equation 2] Tl B—
indicate(p + q)? = p? + 2pq + ¢* (0 + @) = p? + 2pq + ¢
(A) Individuals that are (A) il ﬁwgﬁ T 2
heterozygous dominant (B) T® uI® Tel a1
(B) Individuals having a lethal .
o (C) fed O FHHG JHIaTen 2
allele
o , (D) I S THGY SFMaell 8
(C) Individuals with homozygous
dominant
(D) Individuals that are
homozygous recessive
37.  What branch of Biology focuses 37. o9 fogm @ o A IR 9 R E
on the study of patterns of Ued & euT9 R dived 27
inheritance? (A) Wﬁﬁﬁ
(A) Genetics o
(B) ¥R
(B) Immunology
. (C) faar
(C) Evolution
(D) RRefead
(D) Ecology
38.  The structure of DNZ by 38. gRT STV @) AT BT 1962
received Noble Prize in 1962. ¥ e REHR A
(A) Maurice Wilkins (A) S R
B) Rosalind Franklin .
®) (B) Ifeie hbfer
(C) Francis Crick _
_ (C) Wik b
(D) Erwin Chargaff
(D) AT ARMH
Series-D B.Sc. - B100101T/ 569 Page - 12



39. A sampled ‘a’ population has 36% 39.  UD AT T 319 & H gMnig R
of homozygous recessive genotype (TU) @1 36% 2| 9 Tollal ‘T @ 3mafy
(aa). Then the frequency of allele S
a’is - (A) 0%
(A) 0% (B) 20%
B) 20% (©) 60%
(C) 60% D) 70%
(D) 70%
40. Which of the following two  40. % % &N ¥ € 3T UM AT &
organelles look most alike a—
structurally? (A) Dad 3R TR H
(A) Nucleus and vesicle (B) Titet S S ST . S
(B) Golgi apparatus and SER
& Sffeidl
(C) Vacuole and cytoskeleton .
(D) Lysosome and chloroplast (©) dRg IR ST
(D) AN R FARCIRS
41.  Which of following is a single 41. f=folRsd & ¥ dH-9  Tha
membrane-bound organelles? fRreel—dg 3iTd 27?
(A) Vacuoles (A) Rfvaar
(B) Golgi apparatus (B) N
(C) Endoplasmic reticulum _ “ “
(C) TSIV D NIcdet
(D) All of above
(D) SWRI T4
42.  Which of the following cell 42. f=foRed & ¥ fod RGBT @
organelles  is  called  the PIRGT BT TARESH HET oIl € 7
powerhouse of the cell? (A) W
(A) Nucleus (B) Yo
(B) Lysosomes
(C) TR
(C) Chloroplast y
(D) Mitochondria (D) eI
Series-D B.Sc. - B100101T/ 569 Page - 13



43.  Which of the following cell 43. fi=foRad ¥ ¥ fog RGBT § RNA
organelles contains RNA- 2T &7
(A) Mitochondria (A) agerBiar
B) Plastids
®) (B) wiResd
(C) Lysosomes
: (C) dIErA
(D) Ribosomes
(D) TEdT
44. This is not a function of 44. IT HIECIPDIgAT & Y 7ol o—
Mitochondria- (A) Tl IRIS cel
(A) Fatty acid breakdown (B) N FIET oEoRRN
(B) Non-shivering thermogenesis ©) St R j AR @
(C) Electron transport chain and
. : \SRIIS IS
associated ATP production T
(D) Glycolysis and associated (D) E Hds
ATP production 3l
45.  The largest cell organelle in the  45. PG § TS IS PIRNGT 5—
cell are- (A) @RS
(A) Plastids (B) Tl 9
(B) Golgi bodies ©) Y
(C) Mitochondria
D) TR
(D) Chromosomes ®)
46.  Alleles are- 46.  Telled &—
(A) Alternate forms of genes (A) SN & dpfcusd wu
(B) Linked genes B) fids 9N
C) Chromosomes that have .
© (C) PR S UR & Y 2
crossed over
(D) TS ToREA
(D) Homologous chromosomes
Series-D B.Sc. - B100101T/ 569 Page - 14



47. A person who receives an extra 47. TP Ffad ol e FfaRad TORTA T
chromosome, could have- XAl &, 8 gl g fb —
(A) Heightened intelligence (A) T -é.—si ﬂ’f?&'
(B) Down’s syndrome B) < Rigm
(C) Redeye N
(D) Polygenic traits (©) o e
(D) dieliole T
48.  Cancer is caused by- 48. DR fHad BROT BT 87
(A) Uncontrolled mitosis (A) AT TR
(B) Uncontrolled meiosis (B) a%ﬁ'ﬁw
(C) Rupturing of cells ©) PR B ‘CC’\E?[ & PR
(D) Loss of immunity of cells D) B N
U & BRI
49. __ is the number of DNA in  49. TR 9% & G2 WY ¥ TN
chromosome at G2 stage of the ¥ SUTU BT G 2
cell cycle. (A) 1
@A) 1 (B) 2
Ei; i © 3
D) 0 (D) o
50. Chromatids coiling in the meiotic 50. ?ﬂ%ﬁ?ﬁ GLICE IR Wﬂj\?ﬁ foror
and mitotic division is ST BN a1 s BN § |
(A) Plectonemic in both (A) i ¥ SeRRT
(B) Paranemic in both (B) e
(C) Paranemic in mitosis and _
plectonemic in meiosis © W o e i
(D) Plectonemic in mitosis and ?ﬂ%ﬁ?ﬁ fAT # e
paranemic in meiosis (D) W feror # ek SR
SR oo H IR
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51. Cell which lose their nucleus 51. ¢ If®N o fiied & SR SfUAr
during differentiation are : P W Al B
(A) Never cells (A) dfa PR
(B) Muscle cells (B) HrrRrt % SR
(C) Erythrocytes f
(D) Leucocytes © w )
(D) PTG
52.  ‘Omnis-Cellula e cellula’ was  52. ‘W9 el § Aol & 7 fhew
given by : foar o -
(A) Robert brown (A) NCCACIRG |
(B) Robert Hooke (B) e e
(C) Rudolph Virchow o
(D) Schleinden (©) eled T
(D) ST
53. Alteration in which of the 53. ffafeq & o ‘IURj?ﬁ H oRacH
following chromosome shows SIS RigM &l 7 2
Down syndrome ? (A) A7 HEEH
(A) Sex chromosome (B) 18
(B) 18
© 21 <) 21
D) 13 (D) 13
54.  Identify the Mendelian disorder : 54, 9 ¥ oF W Asforrd faaR B
(A) Haemophilia (A) BrEmIferT
(B) Sickele cell anaemia (B) fi@d e T
(C) Red green colour blindness (C) el &1 T S
(D) All of these (D) TR T
55.  Which of the following is not the  55. fy=fofad & ¥ @ <E—smenRd
dye-based chromosomal banding ? PIAH ST T8 2 ?
(A) Giesma (A) e
(B) Reverse (B) o
(C) Centromere S
(D) Metacentric © _
(D) Herdfe®
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56. Name the terms which defines the  56. a1 ¥ Wil TR &I 3fcRad ufcal &
presence or absence of extra SuRefT T ﬂqﬁgﬁ B IRIINT Har

copies of a few chromosomes : ¥
(A) Extranuclear inheritance
(B) Aneuploidy

(A) TRE[dRR gTeRe

(C) Euploidy ®) )
(D) Diploidy (©) et
(D) feford
57.  In cancer telomerase activity . 57. PR ¥ AR Tfifaf—
(A) Increases (A) el &
(B) Decreases (B) Tedl 2
(C) Remains constant ©) ReR @ 3
(D) Has no role .
(D) @I e Tl &
58. Which of the following 58. fy=foed & & & uyea™ HZem
designation has given to human W 3l foar &=
female- ( A) XX
(4) XX (B) XY
(B) XY (C) XO
(©) XO (D) 7z
(D) ZZ
59. Telomere is not related to . 59. AR v Y HERT T g |
(A) Maintenance (A) IE¥EE
(B) Chromosome degradation (B) TVRE ¥ fRrae
(C) Division (©) R
(D) Replication D) m/iﬁ :
60.  The rough Endoplasmic reticulum ~ 60. % UelelivAed fehed W ...
has located on it. Rerg g1dr &=
(A) Lysosome (A) RIERSIRIGH
(B) Cytosol (B) e
(C) Ribosomes -
(D) Proteins ©
(D) WM
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61.  Why are chromosome condensed? 61.  TUREA wad @i g o
(A) To facilitate accommodation (A) 3MMEN B Qjﬁgﬂ & foru
(B) Always condensed (B) T FERIT & B fore
(C) To facilitate cell division ©) A Tt ?jﬁ%ﬂ 3 firg
(D) To facilitate diffusion in D) S BRERT § R & ﬁﬁﬁﬂ
daughter cell & fre
62. At which phase transcription  62. UfoRgd /iRl fhd TR § BT
occur- a—
(A) Interphase (A) TR
(B) Prophase (B) el
(C) S-phase ©) T
(D) G-phase
(D) S =R
63. This organelle is responsible for  63. 3[® Sl PIBI B NN Bl T FAT
destroying worn-out cell parts- 2 Sl WNIE 91T Bd 8—
(A) Lysosome (A) RIERSIRIGH
(B) Mitochondria Teifgar
(C) Golgi apparatus ®) )
(D) Ribosomes © el ST
(D) TEdE
64.  The centromere is A/T rich region- 64. SRR § A/T SITST 91T H B0 &
(A) True (A)
(B) False (B) erd
© M.ay be True or may be False (C) W& I Tord M
(D) Itis not fixed (D) & Pifte T s
65.  Which of the following is incorrect ~ 65. ISR & Ay # F=foiRad § & &
with respect of centromere- Gl T 27
(A) Constricted chromosomal (A) ﬂ—@%‘ﬁ TR o
reglon (B) Rrex pWfesd T To s gar
(B) Holds the sister chromatid 3
together
© At%aches to spindle fibres (©) Risd PrER i g g
(D) Facilitates even distribution (D) W faaRer 1 ?jﬁﬁﬂ < 2
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66. The extent of chromosome coiling ~ 66. IR—fAMISTT BIRIGT # HHENM FTfor
is non-dividing cells is R 2|
(A) Supercoiled (A) W
(B) Euchromatin
(B) e
(C) Condensed : :
. (C) WEFIT /DS
(D) Heterochromatin
(D) &Il
67. Cell organelle are located within =~ 67.  ®INGNT BIHT & AR Hal Red g |
which part of cell- (A) RS
(A) Nucleus (B) BT T
(B) Cytoplasm ©) e R
(C) Cell membrane
D) o 3? A
(D) Lysosome ®)
68. Nucleosome was first discovered  68. = FTINAE BT U8 IR 1974 H oo
in 1974 by- gRT afvfd fomam T e
(A) William Asbury (A) Rftrm o
(B) Rosalind Franklin ®) e Bahm
(C) Roger Kornberg
. (C) R Priat
(D) John Crick y
(D) i fobeh
69. Endoplasmic reticulum functions  69. USIcllloA® Wfehe™ & H1 & —
to- (A) ;—Rq-cﬁ—é TERTT
(A) Transport material (B) W T
(B) Destroy old cell parts
(C) T G
(C) Make ribosome _
(D) W Yo
(D) Package proteins
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70.  Genetic material is contained in  70. &ﬂd@@ gerd PR & fod wmr #
which part of cell- 2dr &=
(A) Ribosome (A) SR\
(B) Nucleus ®)
(C) Cytoplasm
(C) WTECIAH / PRI 5
(D) Nucleolus
(D) faeisirerd
71.  The organelle functions to package 71. 98 3H S WEH B UF D D
and deliver proteins- faaRor vt & —
(A) Lysosome (A) CIRRIRIL
B) Endoplasmic reticul - ~ o
(B) Endoplasmic reticulum (B) Ve Y
(C) Mitochondrion .
: (C) gl
(D) Golgi apparatus
(D) e Sl
72. The organelle that functions in  72. Ig 3FTH PRGN Ya0q § HH xRl
cellular respiration- a—
(A) Lysosome (A) CIRRIRIL
lasmi icul : ~ ~
(B) Endoplasmic reticulum (B) TeraR e
(C) Mitochondrion
: (C) gl
(D) Golgi apparatus
(D) e Sl
73.  Which of the following cell 73. o/ # 9 B—d SIRGT BIRGHT §
organelles regulates the entry and IR Y \qﬂgﬁ D Ud9 IR B B
exit of molecules to and from the ity avar ¥
cell? )
(A) Lysosomes (%)
YRORomE (B) Tl dfe
(B) Golgi bodies
(C) Cell membrane © e
(D) Mitochondria (D) AP
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74. A jellylike substance found 74. TG ofo ol Ugrf § O WO farectl
floating inside the plasma P N AT REIRIDIASIG] -
membrane (A) I g
(A) Cellsap (B) NS
B) Cytoplasm
EC; KZryIc))plasm © y }

(D) Mitochondria (D) eI

75.  Who discovered the cell in 1965? 75. 1965 # BIRGI DI @rol fem @f of?
(A) Robert Hooke (A) e TP
(B) Schwann (B) M
(C) Tatum ©) S
(D) De. Bary D) o N

76. It is known that the total sum of all 76. T AT & Telldd &l 4! SHHCW Eal
the frequencies of the allele is__ . Bl T =
(A) One (A) 1
(B) Two (B) 2
(C) Three
(D) Four © 3

(D) 4

77.  Which of the following represents 77. 9 # ¥ B9 gL a9 FHER o
the Hardy Weinberg equation? yfaffecg ovar 27
(A) p*+g*=1 (A) p*+q*=1
(B) p?+2pq+qg:=1 (B) p?+2pq+q? =1
©) p*+q*=0 © PP+ =0
@) @*+ a7 =1 D) @+ > =1
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78. A plant that exhibits two alleles for 78. Udh T S Bacl U faoar & fow q
only one traitis called _ Tolld Ueffd oxar & 99 —— &al
(A) Monohybrid ST
(B) Dihybrid (A) AAEERS
(C) Monogamous :s
(D) Digamous ®)
(C) T /AT
(D) fewfad /i
79.  Which of the following 79. #Hed 7 U7 TN H Hex & Ui @l
characteristics of peaplants was 1 § 9 fog Oovdr &1 S92l
not used by Mendel in his Ry orr?
experiments? (A) e <
(A) Seed colour
(B) Seed shape (B) W
(C) Pod length (C) ell @ e
(D) Flower position (D) el 1 Red
80. Which of the following is the  80. frfciRed ¥ &M @1 ARG Fa
carrier of genetic information- DI AED 2°
(A) Proteins (A) T
(B) Amino acids (B) T TR
(C) Carbohydrates
(D) DNA (©)
(D) DNA
81.  Which of the following mutations ~ 81. 4= & & @ @ SARad" &I G
is the most common type of A YhR &7
mutation? (A) ARfed SaRadq
(A) Somatic mutation (B) el SeaRadH
(B) Germinal mutation N
(C) Backward mutation © qj)qs( \icql:qdj
(D) Forward mutation (D) RIS SERd
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82.  Genomatic mutation is of how
many types-
(A) One
(B) Two
(C) Three
(D) Four

83.  Which of the following is not
responsible for the formation of
chromosomes?

(A) DNA

(B) Proteins

(C) RNA

(D) Endoplasmic reticulum

84.  Which of the following is incorrect

with respect to mutation?

(A) Sudden

(B) Continuous

(C) Change in chromosomes and
genes

(D) Leads to variation in DNA

85. How many autosomes are present
in a human being?
(A) 20 pairs
(B) 22 pairs
(C) 23 pairs
(D) 44 pairs

82.

83.

84.

85.

SIFMCd RS /SaRadd o
YR BT Bl 87

(A) 1

(B) 2

© 3

(D) 4

= 9 3 oRE @ T @ forg
STRERT el &7

(A) DNA

(B) "M

(C) RNA

- o\ o\
(D) TUsIwllvH® NSEASE

SARad & deg H 9§ BN W
Td 87

(A) 3D

(B) fR&R

(C) TOREET 3R Wi # gRacH
(D) ST H fA=TaT & 3R gel
TS # foha ST Aieg 8 87
(A) 20 S8

(B) 22WI8

(C) 23Tl

(D) 44 WS
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86. Most of the genetic disorders are  86.  3(fI&HIe FIaiRkie fddHR T HRYT
caused due to gd 2|
(A) Mutation (A) Gorfade
(B) The gender of an individual B) et @ a1 B
(C) The gross chromosomal .
. (C) el RS SRHTIAN
abnormalities
(D) SURIG I
(D) All of the above
87. A fully expressed allele is referred 87. Tﬁ?ﬂ Q"CFHW Toid Gl gl JATdl
to as =
(A) Dominant (A) Siftne Wasi |
(B) Recessive (B) ﬁ
(C) Homologous
(C) AU
(D) Heterozygous
(D) fawagwsh
88. If DNA is damaged, which of the  88. JRDNA &fqued & ar 2, a fr= &
following gene arrest cell cycle? DI 9T S 9 dsh Dl P ol o—
(A) Rb (A) Rb
(B) P> (B) PS3
(C) Hedgehog receptor ®) RN R
(D) P16 (D) P16
89.  cdks bind with enabling the  89.  cdks A JeaR Uad & WU H
cdks to function as enzymes. B PG 2 I GHH 9910 2 |
(A) MPF (A) MPF
(B) Cyclins (B) W
(C) Histones © R ;
D P53
D) D) P5
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90. The phase of mitosis which is 90. Wﬂj\%‘ﬁ faTS BT 98 TR S TS
associated with the formation of IR & FET O = &
the nuclear envelope is:- (A) et
(A) Prophase (B) -
(B) Metaphase
(C) Anaphase © G
(D) Telophase (D) el
91. DNA replication is controlled at  91. DNAEﬂ%@% o fow TPEEC W
which checkpoint? frafyg ova 27
A) G A) G
®) G (B) G
© M € M
(D) S (D) S
92. Each chromosome contains two 92. AMd BIRGI & AT dqHh | 7
chromatids by the end of WO $ 3T § IIH TR =
~____phase in life cycle of a Fifee
human cell. (A) C
(A) € B) G
B) G ©) M
€ M (D) S
(D) S
93.  Go phase is- 93. T —
(A) Permanent state of all body (A) I IRR DIRTDHBIT DI Th IR
cells Rerfy
(B) The state of most cells in an (B) T 7 TR 3§ aRE EREG
animal body
(C) Another name for interphase Ef_%ﬁaﬁ
(D) All of above (C) B BT I M
(D) SR & I
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94.  Passage of a cell through stages of  94. ®IBI Th & RO & ARG I Uh
cell cycle is controlled by a protein HIRIGT Bl AN U WS BIETol R
kinase that phosphorylates many Prifyg T € o SR 9 W 58
different proteins at appropriate : o

e P Pprop CT—3TCHT WK B BIRDRIZIC Bl
items-
_ gl
(A) Cd-k activating activating
_ (A) WS- BT Bl AlhT BT &
kinase
(B) Cyclin-depenent kinase (B) SRS PR
(C) Cyclins (C) d9odrd
yrosine kinase D
D) T ine ki SRR 553313

95. At which cell cycle checkpoint, 95. Ife PR FT STV =T & 1
cell cycle is halted if cell’s DNA is 2 d IRG Th B feg Al W
damaged? PRI T b T 87
(B) S-G, (B) S-G,

(D) Go-Gy (D) Go-G;

96.  Glycocalyx is associated with 96. TSP oI T W Hdg B?
(A) Ribosomes (A) TzENM
(B) Nucleus (B) @

(C) Plasma membrane (C) @ e
(D) Cell wall (D) ¥ T
97.  Digestive enzymes are present in- 97. URH Togq —— H Hﬁ\_rj\_q' Bl &
(A) Ribosome (A) TzENM
(B) Lysosome (B) RIERIRSIC
(C) Liposome ©) foifre
(D) Mitochondria D) R
Series-D B.Sc. - B100101T/ 569 Page - 26



98.  Cell theory is not applicable to- 98.  HIRHT Rigid [SINN el BT B
(A) Fungi (A) Hah
(B) Microbes (B) wﬁ
(C) Algae ©) )
(D) Virus
(D) dIe¥
99.  Centriole takes part in formation  99.  WfgaNdT fordad Ta7 H wIT o 87
of- (A) If¥®
(A) Nucleus (B) I
C) Cell plate
( - (D) BT fToT I @t @ fore
(D) To start cell division
100. Which of the following is not a 100. 94 § ®F @1 &ﬂd' 3B AT ol &—
hereditary disease? A) Rifed wEaRN
(A) Ciystic fibrosis (B) Srerefifra
B) Thal i
EC; i a assa;.trla ©) B N
aemophilia
.. (D) hicfor
(D) Getinism
Xhkdkkk
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Note:
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This Question Booklet contains 100 questions, out of which only 75
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options and only one of them is correct. The answer which seems
correct to you, darken that option number in your Answer Booklet
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pen. If any examinee will mark more than one answer of a particular
question, then the first most option will be considered valid.

Every question has same marks. Every question you attempt correctly,
marks will be given according to that.

Every answer should be marked only on Answer Booklet (O.M.R
ANSWER SHEET).Answer marked anywhere else other than the

determined place will not be considered valid.
Please read all the instructions carefully before attempting anything on
Answer Booklet(O.M.R ANSWER SHEET).
After completion of examination please hand over the Answer Booklet

(OOM.R ANSWER SHEET) to the Examiner before leaving the

examination room.

There is no negative marking.

On opening the question booklet, first check that all the pages of the
question booklet are printed properly in case there is an issue please ask the

examiner to change the booklet of same series and get another one.
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